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2.1 Estimating Tangent Lines

Standards :

MCDI

MlD1a
MCDIB
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0¥ Secant Lines

What is a secant line ? A secant line is is a line passing
through 2 points on a curve

. 7

if¥##secant lines give a#role of change .

Example] Find the slope of the secant line of y=x3 on the interval [ 1,3) .
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Whatistheequationofthesecanthne ?

y=mxtb⇒whatdoknw ?

1=134 )+b
M=13,X=1,y=1 .

1=13 tb €31127
12=b

.
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held Tangent Lines

What is a tangent line? A tangent line is a line that
touches the graph in one local point .

#%init 0
tangent lines give instantaneousrate of change .

Tangentlineso
Tangentlines areinstantaneous rate of change .

tt 's a better way to study the exactbehaviorof graphsat everylittlesection&point .

i Think of it as an easy
"

snapshot
' '

of what
is
going on

inthefunds on
.
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Rdatinshipbetweensecantltangentline-

the
secant lines approaches thetangent lines

, the secant

lines
eventually contras intothe tangent line

.tl#EE ?÷¥¥¥¥i¥¥÷n
.

Tangentline at × - a '

Katina ⇒ pnmjotlaththttt

[Example1) let's consider the graph of y=x4S . Find the

instantaneous
rate of

change
at x=2

.
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[Example D Estimate the slope at point ( 44 to Ax ) = 2×3 . xtj
.

ExampleD A stone is released from a state of rest fallingto Earth
.

Letthe functiondescribing the situation be fH=16t
'Estimatethe slope of the tangent line at t= 0.5 seconds .

-


